
l;=g= ;+s]t g+ ljj/0f AofVof

ut cf=a= )&#.)&$ df 

nufO{Psf] oyf{t s/sf] b/

rfn' cf=a= @)&$.)&% df 

k|:tfljs s/sf] b/

 cf=a=)&%.)&^ df cg'dflgt 

s/sf] b/ s}kmLot

1 11300 ;Dklt s/

;a} k|sf/sf] ;DklQdf nfUg] 

s/ o;df kb{5 .  zLif{sdf 

/sd hDdf ug{ ldNb}g

1 lj; nfv ;Dd 0 gnfUg] gnfUg]

2 tL; nfv ;Dd 0 %)) %))

3 krf; nfv ;Dd 0 !))) !)))

4 Ps s/f]8 ;Dd 0 ! k|ltzt ! k|ltzt

5 Ps s/f]8 eGbf dfly 0 ! k|ltzt ! k|ltzt

2 11314 dfnkf]t e'ld s/

e"dLsf] :jfldTj afkt lgoldt 

?kdf ltg'{kg]{ s/ o;df kb{5 . 0 k|lt /f]kgL ? @% k|lt /f]kgL ? @%

Aoa;fo s/

2 r'/f]6 ? @)k|lt Kofs]6 ? @ k|lt Kofs]6 

2  /S;L 0 ? @) k|lt  af]6n ? @% k|lt  af]6n

4 lj1fkg s/

1 lj1fkg s/ Ps /+u 0 ? !+)) k|lt ju{lkmt ? !+)) k|lt ju{lkmt

2 lj1fkg s/ b'O{ /+u 0 ? @)) k|lt julkmt ? @)) k|lt julkmt

3 lj1fkg s/ tLg /+u 0 ? #)) k|lt ju{kmLt ? #)) k|lt ju{kmLt

5 11310 crn ;Dkltdf nf\Ug] s/

;a} k|sf/sf] ;Dkltdf nfUg] s/ 

o;df kb{5 . Of d'n zLif{df 

/sd hDdf ug{ ldNb}g .

1 ? kfFr xhf/ b]lv Ps nfv ;Dd 0 ? %)) ? %))

2 ? Ps nfv b]lv tLg nfv ;Dd 0 ? %)) ? %))

3 ? tLg nfv b]lv kfFr nfv ;Dd 0 ? !%)) ? !%))

4 ? kfFr b]lv bz  nfv ;Dd 0 ? #))) ? #)))

5 ? bz nfv b]lv krf; nfv ;Ddbz 0 ? *))) ? *)))

6 kfrf; nfv b]vL Ps s/f]8 ;Dd 0 ? !)))) ? !))))

6 14243 l;kmfl/; b:t'/

:yflgo tx 4f/f l;kmfl/; 

u/]afkt p7fO{Psf] b:t'/ o;df 

kb{5 .

1 3/sf] af6f] tyf c+z aG8f l;kmfl/; 0 ? %)) ? %))

2 gful/tf l;kmfl/; 0 ? !)) ? !))

3 gful/tf k|ltlnlk l;kmfl/; 0 ? !)) ? !))

4 lk5l8Psf] 5]q l;kmfl/; 0 ? %) ? %)

5 rf/ lsNNff k|dfl0ft l;kmfl/; 0 ? %)) ? %))

6 3/ hUuf d'Nofs+g l;kmfl/; 0 ? !))) ? !)))

7 of]hgf ;Demf}tf l;kmfl/; 0 ? %)) ? %))

8 of]hgf e'QmfgL l;kmfl/; 0 ? %)) ? %))

9 gfd y/ ;+;f]wg l;kmfl/; 0 ? @)) ? @))

10  pBf]u btf{sf] nfuL ;h{ldg-;fgf_ 0 ? %)) ? %))

11  pBf]u btf{sf] nfuL ;h{ldg-7'nf]_ 0 ? !))) ? !)))

12 :yfoL 7]ufgf k|dfl0ft l;kmfl/; 0 ? !)) ? !))

13 :yfoL 7]ufgf j8f k|dfl0ft l;kmfl/; 0 ? !)) ? !))

s/ tyf /fh:j ;DaGwL b/

cf=a= )&%.)&^ 

d'8\s]r'nf ufpFkflnsfdf s/ tyf /fh:j ;DalGw b/



14 hUuf btf{ l;kmfl/; k||lt/f]kgL 0 ? %) ? %)

15 /flhgfdf as; kq l;kmfl/; 0 ? @)) ? @))

16  pBf]u :yfkgf l;kmfl/; gfd;f/L l;kmfl/; 0 ? %)) ? %))

17 kz' kfng l;kmfl/; k|lt uf]6f 0 ? !) ? !)

18 u}/ ;/sf/L ;+:yf Sna btf{ l;kmfl/; 0 ? !))) ? !)))

19 s[lif kmd{ btf{ l;kmfl/; 0 ? %)) ? %))

7 14245 gftf k|dfl0ft b:t'/

:yflgo tx 4f/f gftf k|dfl0ft 

u/]afkt p7fO{Psf] b:t'/ o;df 

kb{5 . 0 ? @)) ? @))

8 14244 AolQmut 36gf btf{ b:t'/

:yflgo tx 4f/f AolQmut 

36gf btf{ u/] afktsf] b:t'/ 

o;df kb{5 .

1 hGd btf{ z'Ns 0 ? %) ? %)

2 d[To' btf{ z'Ns 0 ? %) ? %)

3 ljjfx btf{ z'Ns 0 ? !)) ? !))

4 a;fO{;/fO 0 ? !)) ? !))

5 ;DaGw ljR5]b 0 ? %)) ? %))

6 kl~hs/0f k|ltlnkL 0 ? !)) ? !))

9 xf]6n tyf /]i6'/]G6 0

1 ;fdfGo lrof k;n 0 ? %)) ? %))

2 ;fdfGo vfnsf] xf]6n 0 ? !))) ? !)))

3 dWod vfnsf] xf]6n 0 ? !%)) ? !%))

4 /fDd|f] vfnsf] /]i6'/]G6 0 ? @))) ? @)))

5 vfgf gf:tf nlh8 P08 km'l88 0 ? @))) ? @)))

10 dlb/f k;n 0 ? !%)) ? !%))

1 v'b|f ljqmL 0 ? @%)) ? @%))

3 yf]s ljlqm

11 s'v'/f kfng Aoj;fo

1 %)) eGbf sd 0 ? %)) ? %))

2 %)) b]lv Ps xhf/ ;Dd 0 ? !))) ? !)))

3 !))) eGbf dfly 0 ? !%)) ? !%))

12 ;fdfGo :6]zg/L k;n 0 ? !))) ? !)))

13 sk8f tyf km]lG; k;n 0 ? !%)) ? !%))

14 d]l8sn 0 ? !%)) ? !%))

15 11472 lj1fkg s/

lj1fkg xf]l88 af]8{ cflbdf 

nfUg] s/ o;df kb{5 ljWo'lto 

tyf 5fkf dfWod af6 x'g] 

lj1fkg ;DalGw ;j} k|sf/sf] 

s/ o;df kb{5 .

1 k|lt xf]l88 af]8{ 0 ? %)) ? %))

16 14249 cGo b:t'/

sd{rf/L egf{ b:t'/

1 clws[t :t/ eGbf dfly 0 ? !))) ? !)))

2 gf=;'=:t/ eGbf tn 0 ? %)) ? %))

17 s[lif cg'bfg lj?jfsf] nflu lgj]bg z'Ns 0 ? %) ? %)

18 s[lif cg'bfg l;rfO{ lgj]bgsf] nfuL 0 ? !)) ? !))

19 s[lif cGt{ut cGo lgj]bg b:t'/ 0 ? %) ? %)

20 ljb]z hfgsf] nfuL l;kmfl/; 0 ? *)) ? *))

21 ljb]z hfgsf] nfuL t];|f] d'n's l;kmfl/; 0 ? !@)) ? !@))

22 vfg]kfgL ljWo't 6]lnkmf]g  h8fg tyf gfd;f/L

1 cfjl;o 0 ? !%) ? !%)

2 Aoj;fo 0 ? %)) ? %))

23 k]G;g k6\6f l;kmfl/;

1 :jb]z 0 ? %)) ? %))



2 ljb]z 0 ? !))) ? !)))

24 cfo ;|f]tsf] k|dfl0ft 0 s'n cfosf] ! K|fltzt s'n cfosf] ! K|fltzt

25 ljWofno cku|]8

1 lg=df= lj=;Dd 0 ? @))) ? @)))

2 df=lj ;Dd 0 ? #))) ? #)))

3 p=df=lj= ;Dd 0 ? %))) ? %)))

26 gS;f kf; b:t'/

:yflgo tx 4f/f gS;f kf; 

afkt p7fO{Psf] b:t'/

27 kfls{8 z'Ns

:yflgo tx 4f/f :yflgo ?kdf 

p7fO{g] kfls{8 z'Ns  o;df 

kb{5 .

28 11321 3/ afxn s/

:yflgo txsf] 5]q leq /x]sf 

:yflgo ;+/rgf x\? Ef8fdf 

nufpbf k|fKt cfodf nfUg[ s/ 

o;df kb{5 .

29 11322 axfn lj6f}/L s/

30 14522 ;fgf ;jf/L s/


